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A barrel and an oven and a receptacle of reeds — XnbmY X730 RNSan

OVERVIEW

X297 (and »2X) taught that if one makes a Xn°an or a XN or a Xn>n he is 2»n for
various MaX?n. There is a dispute between *"w1 and nM0IN whether 712 is one of
them.
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s"w+ explained that in all these three cases he is not liable for the 712x%1 of 7112
(building), for there is no 7oX%1 of ‘building’ by utensils (only if it is attached to the
ground) —

mooin disagrees
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And it does not appear to be so; for it is only regarding putting back together a

bed or candelabra made up of disassembled parts, where we say 2°922 %12 PN -
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However when one makes an entire vessel completely, he is liable on account
of 2 -

mooIN proves his point:
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For 27 rules in the beginning of 7111377 P79, ‘this person who inserts a peg into
the handle of a shovel’ is 7212 2w 277’ —

mooIn anticipates a difficulty:
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And contemplation is required so that there should be no difficulty from the
case of blowing glass utensils mentioned at the end of our »92, where " rules that

Poxy 72,
2 The marginal note refers us to 2,20p where X237 states 2732 112 TX.
3 It will be necessary for mamn to delete one of the MaxYn which "W counts (regarding Xn>m XN kn>an) and
insert 71112 instead, in order to maintain the number of N1oX%71 mentioned in the X3 for which he is 27n.
4 5% there maintains that he is w*v51 7om DWn 31 (not N2 DWn). *"wA here also mentions w>vs2 7o regarding
Xnom 7N (but not n°an). See ‘Thinking it over’.
5 He is making sure that the handle does not slip out from the shovel blade. We see that there is 27323 1°12.
63,7y, According to m20n he should be 21 for 73 since he is making the entire *73. See N»R Now who answers that
112 is when different materials are joined together; however by the glass he is merely blowing up one material, the
molten glass, therefore it is not considered 2.
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he is 2»1 for wovo2 11on, but not for 7112.

SUMMARY
MooIN maintains there is 0°952 112 unless one is joining together the disassembled
parts of a °22. It is not clear why glassblowing is not considered 112.

THINKING IT OVER
Why is the case of inserting a peg into a shovel (where he is 12 own 2»n),’
different from putting together the parts of a bed (where we say 0°932 1°12 1X)?

7 See (text by) footnote # 4.
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